+B0949+287
KB1040+123_

Gain [K/Jy

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

Oloct16 to 31oct16 all freg

16 pnts. Gain K/Jy

B + FIG 1
L % ¥ u
C * ]
0 5 10 15 20

za

Tsys
= 1155, 1310. 1375. 1415.Mhz * x E
- x -
= ii X J
0 5 10 15 20

za

Sefd
g | ) . E
. A —
= 5% E
- x 7 E
— + E
- N ]
0 5 10 15 20

za

AvgBmWidth

B | iy X X ]
C - X ¥ -
- NS X ¥ n
f * X ¥ —]
0 5 10 15 20

zda



+B0949+287
KB1040+123

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

Oloct16 to 31oct16 1155 Mhz

4 pnts. Gain K/Jy

FIG 2

10
za

Tsys

o

10
za

Sefd

N

0

o

10
za

AvgBmWidth

N

0

o

10
za

N
o



+B0949+287
KB1040+123

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

OToct16 to 31oct16 1310 Mhz

4 pnts. Gain K/Jy

+ FIG 3
- * X :
0 10 15 20
za
Tsys
? M X *;
0 10 15 20
za
Sefd
= % . =
= + E
0 10 15 20
za
AvgBmWidth
— H ¥ ]
0 10 15 20

zda



+B0949+287
KB1040+123

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

OToct16 to 31oct16 1375 Mhz

4 pnts. Gain K/Jy

+ FIG 4 ]

— . » =
0 10 15 20

zda

Tsys
3 .o E
0 10 15 20

zda

Sefd
= x X -
- ; -
0 10 15 20

zda

AvgBmWidth

- * X .
0 10 15 20

zda



+B0949+287
KB1040+123

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

Oloct16 to 31oct16 1415 Mhz

4 pnts. Gain K/Jy

+ FIG 5 ]
L X N ]
0 10 15 20
zda
Tsys
; M- X ;
0 10 15 20
zda
Sefd
3 x X E
- + -
0 10 15 20
zda
AvgBmWidth
; e K ]
0 10 15 20

zda



